
ANSWERWITHEXPLANATION [SET–36]

(1–5):
Problems/health→hlt/mlp, with→snk
jacing→ngi, rise→rtu, on→sa
challenge→riy, every→ine
each/day→nop/hus

1.(c) 2.(a) 3.(c) 4.(b) 5.(d)

(6-10):

6.(d) 7.(c) 8.(c) 9.(b) 10.(b)

11.(b)
27thDec.2009–Thursday
1stMarch2010→?
No.ofDaysbetweenthem =4+31+28+1
=64
Dividingitby7wegetremainder=1
Thursday+1Day=Friday

12.(c)

13.(a)
prrt/prrt/prrt

14.(b)

15.(d)

16.(a)
From I:S,R>T
From II:S>J>R
From III:>J
From IandII:S>J>R>T
HenceSunnyisthetallest.

17.(b)
From I:

From II:

From III.

From IandIItogether:

NothingisknownaboutD,sowecan’testablishany
relationshipbetweenAandD.
From IIandIIItogether:

ThusAishusbandofD.
Therefore,IIandIIItogetheraresufficient.
From IandIIItogether:
Wecan’tfindanyrelation,betweenAandD.Thus,I
andII,eventogetherarenotsufficient.

18.(d)
From I:Akash’spositionfrom thetop
=18+5+1=24
Akash’spositionfrom thebottom
=45–24+1=22
Thus,Ialoneissufficient.
From II:Akash’spositionfrom thebottom



=15–4=11
Thus,onlyIIissufficient.
From III:Akash’spositionfrom thebottom
=9+4+1=14
ThusonlyIIIissufficient.

19.(d)
From I:

From II:TcannotsitadjacenttoP.
From III:

QsitssecondtotherightofP.ThusonlyIIIis
sufficient.
From IandIItogether:

TsitssecondtotherightofP.
ThusIandIItogetheraresufficient.
From IandIIItogether:
Thearrangementisnotpossible.SoIandIIItogether
arenotsufficient.

20.(c)
willyoudothis→9734...(1)
From I:youcandoeasily→3129...(2)
From II:howareyou→538...(3)
From III:Iwillgiveup→67#$...(4)
From (1)and(2),youdo→93...(5)
From (1)and(4),will→7...(6)
From (1),(5)and(6),this→4

21.(e)

ApossibleVenn-diagram is

(a)

(b)

22.(e)
From theVenn-diagram (b),bothIandIIfollows

23.(b)

24.(a)

25.(a)

[Ifanyqueryaboutthesequestionspleasecontact8167092555from 10am to6pm]


